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Identify Author's Purpose — Questions

Name Date

The Tortoise and the Hare

1. Who do you think the author wrote this story for?
Explain why you think it was written for that audience.

2. Why do you think the author has written too slow in italics?

3. Explain in your own words the moral of this story.

4. Write some questions that you would like to ask the author about The Tortoise and
the Hare.
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Thunderstorms - Editing

Add editing marks to text. There are 20 errors.

A thunderstom is a storm with Thunder and Lightning

There is ofen heavy rain during a thunderstorm?

Thunderstorm’s happen when warm, moist air quickly
mooves upwards. This causes Clouds to form and

creates gusty winds heavy rain and some-times hail.

the loud sound that “thunder” makes caused by the
heat of the lightning that happens befour you hear the
thunder. sometimes the sound of thunder can last for
severel seconds. This is because the thunder echos

around the ground mountains, hills and building’s.

Editing Marks:

Capital letter

End punctuation OO®
Insert a word A
Change to lower case /.,c,

Take something out

Check spelling

New paragraph

Re-write the text correctly:







a + =

+3 +9
« / v
b + =

+6 +8
< — v
c + =

+4 +7
. / v

Complete these addition grids by bridging to the next ten in your head:

356

78

586

287

385

984

298

566

252

176

368

146

SERIES

Addition and Subtraction
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The car's tank had 8.2 L of fuel remaining. It
used 1.8 L driving to the supermarket and 2.4 L
driving to the beach. If it needs 6 L to travel to the
petrol station, will it make it e
without running out of fuel?

T s —— Dhmmaa o G
. . _ _

#

' 7. Scott wanted to get to work at 8.00 am
sharp. He stops at the shops for 13 minutes,
after walking for 19 minutes. He then
catches a bus for 32 minutes, then walks
an additional 6 minutes. What time does
he leave home?

2. The book stand sold 678
magazines in the first month and 46
less than that in the second month.
How many magazines did they sell in
these two months?




